Practice Test (2)

1Ban) g Aoy e gun ga Aliad

Choose the correct answer from a, b, ¢ or d:

1. I tried ............ up chocolate, but it was too hard. I used to eat some when my friends
offered it to me.

a) give

b) given

¢) giving

d) to give

2. My father always donates and helps charities and poor people, ............ is kind of him.
a) which

b) that

¢) who

d) whom

3. There is no doubt that Ali’s ............ for the job is remarkable; he is really efficient.
a) suitability

b) suitable

¢) suits

d) suit

4. I used to have the mechanic ............ my car every year when I was abroad.
a) to repair

b) repaired

¢) repairing

d) repair

5. I used to help my teachers to give ............ the books when I was at school.
a) in

b) on

¢) away

d) out

6. Trees ............ in rainforests can reach a height more than 30 metres.

a) grows

b) grown

¢) are grown

d) grew

[ you lived on the moon, how would you feel?

a) In case of

b) Supposing

¢) Provides

d) Imagined
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8. We’re going to get a maid ............ us at home.

a) help

b) to help

¢) helped

d) be helped

9. Many people have a fixed idea about how artists behave, which is known as a ............ .
a) fact

b) stereotype

¢) observation

d) truth

10. Judging someone negatively based on their race or religion without knowing them
personally is an example of .............. .

a) curiosity

b) acceptance

¢) prejudice

d) understanding

11. The professor asked the student to .............. on his answer to provide more details.
a) explain

b) simplify

¢) elaborate

d) conclude

Read the following passage, then choose the correct answer from a, b, ¢c or d:

With the birth of the big cities and their exploding population has become the problem
of getting rid of their wastes. Many people believe that these cities will eventually bury
themselves in their own rubbish unless something is done, and done quickly. They support
their argument by stating that in 1985 Mexico City produced 6,000 more tons of rubbish
than could be collected.

The worries about land pollution, shortage of natural resources (especially wood and
oil), increasing costs of raw materials and growing unemployment all point to one
solution: recycling. Recyclable waste falls into seven basic groups: paper, glass, plastics,
metals, rags, bones and organic matter. The first five groups can be recycled to produce
similar products a second time. Organic matter can be used to feed animals or used as
fertilizer. Bones produce fat, gelatin and calcium which can be used in animal feed or to
make filters.

Among the many advantages of recycling are: saving valuable natural resources,
preventing land pollution, saving manufacturers' money, creating a lot of jobs (to recycle
the waste of Cairo would need 17,000 - 20,000 collectors, 6,000 sorters plus transporters,
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processors ...etc.), creating new small businesses which can supply many of the major
industries and generating money (e.g. in Cairo, if all the rubbish that could be recycled
was recycled, it would generate $ 73, 467 a day).

For recycling to be a success, it needs the support of the government in supplying areas
for dumping, sorting and recycling, and to launch a campaign to persuade the public to
co-operate. It needs experts to find suitable people or companies to recycle each material.

All the way along the line, from the collector to the seller of the recycled product, there
has to be an acceptable income. In this way, meeting this demand is easier in the
developing world, where people are on lower incomes, than in developed countries where
expectations of reward are higher.

Choose the correct answer from a, b, ¢ or d:
12. Why has recycling become a necessity?

a) It helps reduce land pollution.

b) It addresses the shortage of natural resources.

¢) It mitigates the increasing costs of raw materials.
d) All of the above.

13. How does recycling help save valuable natural resources?
a) By increasing waste production

b) By reducing the need for new materials

¢) By promoting deforestation

d) By encouraging resource depletion

14. In what way does recycling save manufacturers' money?
a) By increasing production costs

b) By providing cheaper raw materials

¢) By requiring more energy consumption

d) By decreasing efficiency

15. How does recycling contribute to job creation?
a) By eliminating job opportunities

b) By creating new jobs in recycling industries

¢) By outsourcing jobs to other countries

d) By reducing workforce needs

16. What does "it" refer to in the text?

a) All the rubbish that could be recycled

b) The process of recycling

¢) The recycling industry

d) Waste management
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17. What does '"this demand" refer to in the text?

a) A need for more recycling facilities

b) An acceptable income

¢) Increased public awareness

d) Government regulations

18. According to the text which of the following is not a product of recycling?

a) calcium

b) oil

¢) fertilizer

d) paper

19. Which of the following statement (statements) is not true?

a) Recycling costs much and could only be afforded in developed countries.

b) People in the developing countries need acceptable incomes to share in recycling work.
¢) In developed countries, people are less likely to accept recycling work.

d) Recycling jobs provide low incomes that are more acceptable in the developing
countries than in developed countries.

Read the following passage, then choose the correct answer from a. b, ¢ or d:
The Rise of Artificial Intelligence

Artificial Intelligence (AI) refers to the simulation of human intelligence in machines
that are programmed to think and learn like humans. Over the past few decades, Al has
seen rapid development and has become an integral part of various industries, such as
healthcare, finance, transportation, and entertainment.

Al systems are capable of performing tasks that typically require human intelligence,
such as visual perception, speech recognition, decision-making, and language translation.
One of the most well-known applications of Al is in virtual assistants, like Siri and Alexa,
which can perform a wide range of tasks based on voice commands.

In healthcare, Al is being used to improve diagnostics and treatment plans by
analyzing large amounts of medical data. For instance, Al algorithms can help detect
diseases like cancer at an early stage by examining medical images. In finance, Al is used
for fraud detection, algorithmic trading, and personalized financial advice.

However, the rise of Al also raises ethical concerns and challenges. Issues such as data
privacy, job displacement, and algorithmic bias need to be addressed to ensure that Al is
developed and used responsibly. As Al continues to evolve, it is crucial to strike a balance
between leveraging its potential and mitigating its risks.

Choose the correct answer from a, b, ¢ or d:
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20. What does Al stand for?

a) Automated Intelligence

b) Artificial Intelligence

¢) Advanced Intelligence

d) Analytical Intelligence

21. Which of the following is NOT mentioned as a field where Al is used?
a) Healthcare

b) Finance

¢) Agriculture

d) Transportation

22. What is one of the well-known applications of Al in daily life?
a) Smart refrigerators

b) Virtual assistants

¢) Autonomous cars

d) Drones

23. How is Al used in healthcare?

a) To perform surgeries

b) To analyze medical data for diagnostics

¢) To replace doctors

d) To manufacture medical equipment

24. In which field is AI used for fraud detection and algorithmic trading?
a) Healthcare

b) Education

¢) Finance

d) Entertainment

25. What ethical concern is associated with AI?

a) Increased productivity

b) Data privacy

¢) Enhanced entertainment

d) Improved accuracy

26. What must be balanced according to the text?

a) Innovation and regulation

b) Speed and efficiency

¢) Cost and benefit

d) Potential and risk

27. Why is it important to address issues like algorithmic bias?
a) To improve technology

b) To reduce costs

¢) To ensure responsible development and use of Al

d) To increase sales
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s Oy As guda ga AL

28. erieennns my two brothers likes swimming.

a) Every of

b) Neither of

¢) None

d) Either

29. Drivers ............ wear a seat belt while driving into the city.
a) need

b) might

¢) must have

d) have to

30. Maria said she had not visited her aunt ............... .
a) yesterday

b) the day after

¢) the previous day

d) the following day

R 2 I well, he would have gone out for a walk.
a) Were he

b) Were he to feel

¢) Had he

d) Had he been

32. My mum admired the car ............. .

a) I bought

b) that I bought it

¢) which I bought for

d) I bought it

R X J next summer, my brother will have finished the course.
a) In

b) The

c) At

d) By

34. My father is a civil rights defender. He belongs to an international rights ............ .
a) accommodation

b) association

¢) deprivation

d) cultivation
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35. 1 coeunnnnee at the garage once a month.
a) have checked my car

b) have my car checked

¢) have my car is checked

d) check my car

Choose the correct Arabic Translation from a. b, ¢ or d:

36. Artificial Intelligence (Al) is revolutionizing the world at an unprecedented pace. Its
applications are vast, ranging from healthcare to finance, and its potential for future
advancements seems limitless.
Laall dle ) ¢ 15 (GUail) da) g Al 48 gaia & AS ju allad) JiSES 3y clkuaY) lSY) (a
Al agaa ¥ Adiiial) ASLilSa) o) gam g «Jagadll Aag
(Jasail) ) Laall dle )l e Badatia Alliadad 4B guia g B i go allall B3 ) % o lilaaY) ¢lSM) &aal (b
293 B 9o Agliical) Adlyilsa) g
Lliial) Adluilsa) g cdadlal) ) Lauall dgle ) cpe Alladal £ o305, § gana & JSu allall gay sl ¢S3) (¢
BSagina & gad
A daal) Gle 1 e 1pay Alliydal aw A8 g € A alladl A U3 1 st e Uha) slSH) daay (d
L Al Y ALl ASLSa) () g g o gl

37. Climate change is one of the most pressing issues facing humanity today. It affects
every aspect of our lives, from the food we eat to the air we breathe, and requires
immediate and sustained action from all sectors of society.
plaall (ya LiBlin Gl g (3a il JS 0 55 sl T pd) ) 5 (A Aalall LY ST a2y g FLI 3 (a
,bA:A.AAS\ QLQM@A@C}ALZ\MJ@JJAM u.dh:\gj W ek Q.g:ﬁ\ f-\}é—“ u.“ alsls 433\
pladal) (pa (it i) 33 (3a il S e i Glla e Al 5 (3 LALaY) L) ST cpe AL 5830 3y (b
el cleUad aran (e B sl g Ay y 98 Cile) o) qullaly g Al g 3) &) ggd) ) AISU o)
ol g (e ciln JS 10 i A1 gl (b 4 sl da) g5 LA ALY JISY) LLGRD G (e 8 (ALl il (¢
Lol ol asan (pa daliins g Alale Aglaiad ) Zlisg g (Al 1) o) ggd) ) AlSL 5 &) aladal) e oLl
alakall (e 150 (Ll il g2 aran Ao il 4D o gal) 4y pdl) Aql g3 AN LALA) LAY JAS) e Ul gl ey (d
il CileUnd JS (e Lol g G 98 18 o callally g cAadiil od) ¢ g¢d) a9 alsli o3
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Choose the correct English Translation from a, b, ¢ or d:

ALY @y Ladie aadl) AL @k A5 YY) QLA judaatll Jull) ) gha i S ST e a8 1 e 38
(b g5 Laa (Judabl ciilS lad g Gala S o el gla i
a) Although I studied all night to prepare for the test, I felt extremely anxious when I
started the questions. However, I tried to stay calm, and my answers were worse than I
expected.
b) Despite studying all night for the test, I felt very nervous when the questions began.
However, I managed to stay calm, and my answers turned out better than I expected.
¢) I studied for the test all night, and I felt confident when the questions started.
However, my answers were not what I had anticipated.
d) Although I didn’t study enough for the test, I felt very calm when the questions
began, and my answers were exactly what I expected.
Lliaia g 13 )y #1980 g aaldl) a7 bl CullS v o puadi ¥ 4y jad e BN B Jliadl ) Ads ) cils 39
AR g A Adalad) Gui 83 gall U el LSt g cdmdal] LAl atiail) g AL gha cildlocal dially Uiniiatind
a) The trip to the mountains in the winter was unforgettable, with snow covering the
peaks and the air being cold and refreshing. We enjoyed long walks and the beautiful
scenery, but we had to leave because of the storm that was approaching.
b) The winter journey to the mountains was not as exciting, with only a light dusting of
snow. We didn’t get to walk much because the weather was too warm, but we stayed for
the entire day.
¢) The winter trip to the mountains was enjoyable despite the heavy snowstorm that
made hiking impossible. The scenery was beautiful, but we couldn’t go outside.
d) We went to the mountains in winter, but the weather was too harsh to enjoy the cold
air, and we didn’t walk at all because of the storm.

1O Ll i
40. How does Pip first meet Estella, and what is his initial impression of her?

42. Write an introductory paragraph of about six lines on the following topic:
The Benefits of Reading
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